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Prepared by: Judy Blazejewski, Glen Waverley Secondary College

Solutions to Accounting Unit 4 practice exam 2007

Supplement to Compak Issue 4, October 2007

Question 1—Tuscany Gifts

1.1.1

Cash Payments Journal

	Date

2007
	Details
	Chq.

No.
	Bank
	Disc.

Rev.
	Creditors
	Stock
	Wages
	Office Exp.
	GST
	Sundries

	Oct. 24
	Totals so far
	
	9 784
	320
	2 980
	4 500
	1 800
	340
	484
	

	 25
	Beautiful Baskets
	207
	180
	
	180
	
	
	
	
	

	
	
	
	9 964
	320
	3 160
	4 500
	1 800
	340
	484
	


Purchases Journal

	Date

2007
	Creditor
	Invoice No.
	Stock
	GST
	Total Creditors

	Oct. 20
	Totals so far
	
	11 000
	1 100
	12 100

	 21
	Beautiful Baskets
	T76
	800
	80
	880

	
	
	
	11 800
	1 180
	12 980


General Journal

	Date

2007
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Oct. 27
	Creditors Control
	66
	
	
	

	
	—Beautiful Baskets
	
	
	66
	

	
	Stock Control
	
	60
	
	

	
	GST Clearing
	
	6
	
	


6 marks

1.1.2

General Journal

	Date

2007
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Oct. 26
	Sales Returns
	50
	
	
	

	
	GST Clearing
	5
	
	
	

	
	Debtors Control
	
	55
	
	

	
	 —P Smith
	
	
	
	55

	
	Stock Control
	30
	
	
	

	
	Cost of Sales
	
	30
	
	


4 marks

1.1.3

	Role of: Stock cards record individual stock movements in and out of the business and help keep control of stock.


1 mark

1.1.4

General Ledger

	Stock Control

	2007
	Cross Reference
	$
	2007
	Cross Reference
	$

	Oct.  1
	Balance
	23 890
	Oct. 31
	Creditors Control
	60

	 
31
	Creditors Control
	11 800
	
	
	

	
	Bank
	4 500
	
	
	

	
	Cost of Sales
	30
	
	
	


	Creditors Control

	2007
	Cross Reference
	$
	2007
	Cross Reference
	$

	Oct. 31
	Bank/Disc. Rev.
	3 160
	Oct.   1
	Balance 
	13 780

	
	Stock Control/GST Clearing
	66
	 
31
	Stock Control/GST Clearing
	12 980


	GST Clearing

	2007
	Cross Reference
	$
	2007
	Cross Reference
	$

	Oct.  1
	Balance
	2 150
	Oct. 31
	Creditors Control
	6

	 
31
	Bank
	484
	
	
	

	
31
	Creditors Control
	1 180
	
	
	

	
31
	Debtors Control
	5
	
	
	


11 marks

1.1.5

Creditors Subsidiary Ledger

	Creditor—Beautiful Baskets

	2007
	Cross Reference
	$
	2007
	Cross Reference
	$

	Oct.
25
	Bank
	180
	Oct. 1
	Balance 
	180

	
27
	Stock Control/GST Clearing
	66
	 
21
	Stock Control/GST Clearing
	880


3 marks

1.1.6

	Explanation: Creditors may have extended credit terms or may still be within credit terms offered.


2 marks

1.1.7

	Item


	Overstated/Understated/No effect
	Amounts

$

	Assets
	Stock understated $30

Debtors overstated $55 
	25

	Liabilities
	GST Clearing overstated $5

 
	5

	Owner’s Equity
	Revenue overstated $50

Expenses (Cost of Sales) overstated $30
	20


3 marks

1.2.1   Witches Hats

	Calculation:

50 x 15
$750

Delivery
50

Packaging
50

	Total cost price
	$ 850


2 marks

1.2.2

	Explanation: Product costs are directly linked/traceable to the stock item and form part of the cost of the items such as the delivery and packaging, but Period costs are those that cannot be directly linked to a specific stock line, so are treated as separate expenses such as advertising.


2 marks

1.2.3

	Strategy: Video surveillance, mirrors in hard-to-see corners, appropriate training for staff. 


1 mark

1.3.1

General Journal

	Date 2007
	Particulars
	General Ledger
	Subsidiary Ledger

	
	· 
	Debit
	Credit
	Debit
	Credit

	Oct. 31
	Stock Write-down
	100
	
	
	

	
	Stock Control
	
	100
	
	


2 marks

1.3.2

	Principle: Conservatism

	Explanation: Losses should be recognised as soon as probable to avoid overstating the value of assets; in this case, Stock Control as it is likely that stock will be sold below cost value.


2 marks

1.4.1

	Disposal of Vehicle 

	2007
	Cross Reference
	$
	2007
	Cross Reference
	$

	Oct. 31
	Vehicle
	20 000
	Oct. 
31
	Accum. Dep’n—Vehicle
	13 000

	
	
	
	
31
	Sundry Creditor—Tony Bell Nissan
	6 000

	
	
	
	
31
	Loss on sale
	1 000

	
	
	20 000
	
	
	20 000


4 marks

1.4.2

	Effect: Profit would be decreased because of the expense loss on sale which would be reported under ‘Other Expenses’.


2 marks

Total: 45 marks

Question 2—Nod Off
2.1.1

General Journal

	Date 2007
	Particulars
	General Ledger
	Subsidiary Ledger

	
	
	Debit
	Credit
	Debit
	Credit

	Oct. 31
	Prepaid Sales Revenue
	32 320
	
	
	

	
	
Sales Revenue
	
	32 320
	
	

	
	Cost of Sales
	13 900
	
	
	

	
	
Stock Control
	
	13 900
	
	


2 marks

2.1.2

	Characteristic: Relevance

	Reason: Match revenue earned in the reporting period with expenses incurred in that period so that profit can be determined accurately.


2 marks

2.1.3

	Cash Flow Statement
	Profit and Loss Statement
	Balance Sheet

	No effect
	Increase Sales Revenue $32 320

Increase Expenses (Cost of Sales) $13 900
	Decrease Liabilities (prepaid revenue) $32 320

Decrease Assets (Stock) $13 900




3 marks

2.2.1

General Journal

	Date 2007


	Particulars
	General Ledger
	Subsidiary Ledger

	
	· 
	Debit
	Credit
	Debit
	Credit

	Oct. 31
	Accrued Interest Revenue
	120
	
	
	

	
	Interest Revenue
	
	120
	
	

	
	Adjustment for three months interest owing. Memo 36
	
	
	
	


3 marks

2.2.2

	Interest Revenue

	2007
	Cross reference
	$
	2007
	Cross reference
	$

	Oct. 31
	Profit and Loss Summary
	360
	July 31
	Bank
	240

	
	
	
	Oct. 31
	Accrued Interest Revenue
	120

	
	
	
	
	
	

	
	
	360
	
	
	360


2 marks

2.2.3

Cash Receipts Journal
	Date

2008
	Details
	Rec.

No.
	Bank
	Debtors
	Cost of Sales
	Sales
	Interest Revenue
	GST
	Sundries

	Jan. 31
	Accrued Int. Rev.
	101
	240
	
	
	
	
	
	120

	
	Interest Revenue
	
	
	
	
	
	120
	
	

	
	
	
	
	
	
	
	
	
	


3 marks

2.3.1  

Cash Flow Indicator

	Explanation: The number of times Net Cash Flow from Operating Activities is able to cover average current liabilities.


1 mark

2.3.2

	Reason: Reduced cash flow from operating activities.


1 mark

2.3.3

	Negative impact: Slows cash cycle, cash coming in slower, obsolete stock.


1 mark

2.3.4

	Reason: Carrying too much slow-moving stock due to:

 (One of) seasonal,  fashion, technological, pricing structure.


1 mark

2.3.5

	Strategy 1: Increase advertising.

	Strategy 2: Encourage debtors to pay quicker by offering discounts.


2 marks

2.3.6

	Measure 1: Benchmarks (for example budget estimates, previous reports)—comparing with them to see how the business measures up.

	Measure 2: Trend analysis—to see how the business is performing over a period of time.


4 marks

2.3.7

	Example: Customer satisfaction surveys, number of complaints to assess customer satisfaction with business produce/service, worker performance appraisals to assess performance of staff, interest rates/inflation rate to assess the state of economy which may affect business performance.


2 marks

2.4.1

	Calculation:


Debtors Control

Balance
10 000
Bank
43 740

Sales
 44 000
Discount Exp.
1760



Bad Debts
 500



Balance
8 000

44 000 x 0.8 =$35 200

35 200 x .05 =$1760

54 000 – (8000 +500 +1760) = $43 740

	Receipts from Debtors
	$ 43 740


2 marks

2.4.2

	Nod Off

	Budgeted Cash Flow Statement for the three months ending 31 December 2007

	Operating Activities
	
	

	Cash Sales
	118 000
	

	Receipts from Debtors
	43 740
	161 740

	Payments to Creditors
	(74 000)
	

	Wages
	(74 800)
	

	Rent
	(9 900)
	

	Electricity
	(4 120)
	(162 820)

	Net cash inflow from operations
	
	( 1 080)

	Investing Activities
	
	

	Office Equipment
	
	(4 570)

	Financing Activities
	
	

	Drawings
	
	(3 000)

	Net cash increase/decrease
	
	(8 650)

	Add Bank balance at 1 October 2007
	
	15 800

	Bank balance at 31 December 2007 
	
	7 150


9 marks

2.4.3

	· Compare the actual results with the budget to identify problem areas, allowing Rolf to take corrective action

OR

· As there is a negative budgeted cash flow for the three months, plans could be put in place to minimise payments, for example pay off office equipment over a longer period or introduce advertising to increase sales.


2 marks

2.4.4

	Item: One of Rent $9000, Electricity $4120 or Cash Sales $118 000


1 mark

2.4.5

	Item: One of Drawings $3000 or Office Equipment $4570


1 mark

2.5.1

	Item
	Budget

$
	Actual

$
	Variance

$
	F/U

	Total Revenue
	45 000
	42 500
	2 500
	U

	Stock Loss
	300
	400
	100
	U

	Adjusted Gross Profit
	24 700
	23 700
	1 000
	U

	Net Profit
	10 000
	12 000
	2 000
	F


2 marks

2.5.2

	Reason: To identify differences between actual and budget and determine cause of difference,

	so more accurate budgets can be prepared.


1 mark

Total: 45 marks
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